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PUZZLE SHEET

Logarithm laws

Why were the saints, saints? Because they were ...

18 7 3 3 12 4 11 2 6 7 3 9

8 1 6 5 15 17 8 4 4 8 18 11 2 1

1 13 10 3 18 7 3 3 12 4 11 2 ,

16 5 1 8 3 9 1 6 7 3 9

8 1 6 5 15 17 8 4 4 8 18 11 2 1

1 13 10 16 1 ’ 5 9 17
1 7 14 16 11 15 17 13 9

6 7 9 1 7 3 9 1 3 17

1 13 15 5 9 17 2 2

© Cengage Learning Australia Pty Ltd 2017

MATHS11PS17132

www.nelsonnet.com.au



‘nelsonnet

Questions
Simplify each expression.
1 log (10) + log (2) — log (4)

2 log (3) + log (4) — log (6)
3 log (40) — log (8) + log (3)
4 log (96) — log (6) — log (4)
5 log (25) + log (4)

6 log (20) + log (2) + log (25)
7 log (42) — [log (6) + log (7)]
8 log (24) — log (12) + log (4)
9 log (4) + log (21) — log (12)

10 log (5) + log (6) — log (3)
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112 — log (50) + log (9)

122 log (6) — log (4)

13 3 log (10) — 2 log (5)

141og (7) + 2log (3) — log (21)

15 3 log (3) + log (6) — 2log (9) + log (3)

16 logx(ﬂ) + log, [Zj + logx(ﬁ]
z x y

17 2 log, (xy) + log, (x'y) — log, (xy")

18 logx(l) + log, (ﬂj + logx(fj
x z y
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Solutions
A2
B 1

C log, (ﬂj
z

log (15)
log (4)
0

log (8)
log (2)
log (7)
log (40)
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log_(xyz)
log (9)
log (6)
log (5)
U log (18)
w3

Y log (3)
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